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L y \_ Student’s Signature )
(1) o1t oy 2l sRovuid .
() agpsly sives wid Hissisly sivzs [Aeddlal 2unami »ua8.
(3) oruyllousy sundl i used Y1 2 caild ©.
(¥)  uHR[EA wale2Els Sesyderdl Guuiol <1 usisl.
Q-1 l2iell Bl Gz wlul. (8)
(i) 515 ws Aoy Hi2e Geuled vl g U1d . Bl «Pidl s v uldad
3.20 8. Wil dell 42 U W 3. 459, od ula Wi Hi2L 500 ViUl giu
Al @2 Biusl Geuleasl Sh2ay oveal bl d wel ucds a s2d] agl
Ysdl usel? drl W2 vudl g4 v dldl,
(i) «ll2iell uRagc Ustedl YO WU G5 YeldH R+l ld Haal,
D, D, D D, ‘i?.qgl
0, 20 22 26 23 250
0, 25 27 23 19 300
0, 30 33 22 19 400
il 200 | 225 | 275 | 250 [ 950
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(i) «ll=ledl Yol BUUIoreil UsteAl S YU BiAdior«L <Al U2 Hadl,
MaxZ = 3x; — X, + 2X4 — X,
S.to. c.
2X) — Xy T3X3 X, =5
X —Xy— Xy T X, =4
X, 20,%,2 0,%,20,%x,20

(1v) el AUl usdl a4 Gia Hoal,

A B C D
I 23 24 25 26
I 25 26 27 28
111 28 29 30 29
v 24 26 29 25
Q-2 (a) & &S0 uty[ael sis uwl vis Yu Bl Ul G54 Hadl. ')
(i) MinZ =y, +y,
S.to. c.
2y, Ty, 24
v, Ty, =7
y120,y,>0
(1) MinZ = -3x; + X,
S.to.c.
2X) X, 22
X +3x,<3
X, <4

X| > 0, b 0
(b)  sy2udlz] uealal sisS wal wis YRl vidier UsHl Gid Hoal, (12)
(1) MaxZ = 3x, + 2x,

S.to. c.

X, TX,<6

2%, +%, 56

X, 20,%x,20
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(1) Max7Z =7x, + 5x,

S.to.c.

3x, +x, <48

2%, + X, <40

X, 20,%,2>0

Q-3 (a) SIS UYL vis Usldi Gl Bl %)
(i) iugll«i ustedi G54 Hnqaidl éoldluw uttlas agl« i,
(i) uRacd us W2 Seead Gia Huqaldl <ld il
(b) 19 UQL vis UL G5a Hudl. (6)
(1) «l=iedl HiRAL AB,C wid D yRasl sesitll EF.G.H i< [ Hidl 3ot W i5
54 Hisdaldl uRagd vid gald 8. 214 s1magll on
AtoE90,Ato F 10, B to F 150, Cto F 10, C to G 50, C to I 120,
Dto H210, Dto 1170 i1 dl 21l 51949l svedy 897 60d « gidd dl Sreau
Giq alil.
A B C D E
P 18 20 22 27 25
G 25 23 28 21 19
H 24 30 26 20 23
1 23 29 17 15 22
(i) 4ot Aldgedl Llasi Gualiol 571 «l2iel ukag« sl G54 Hadl,
D, D, D, D, Y8l
0, 13 14 12 19 3
0, 18 16 14 13 6
0, 17 15 14 18 7
0, 12 14 13 15 6
Hio| 2 7 3 2
Q-4 (a) Sit5 UGl s Uzl Gk 21l (6)
(i) Hondl
1) wus wid
2)  WHA Y
(i) uRaed usl <l LM Gia Huadid] Qidiaddl g9 <a aglal.
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(b) 515 UQL s Eruidl 21glL

(1) 5 culsadl 2id 5 14l HI2 is w1 Hin 2150y 51 218 culsad 2 <ld wiul
PG (SRS RUEETON

s
HIRIAL 1 2 3 4 5
A 32 38 40 28 40
B 40 24 28 21 30
C 41 27 33 30 37
D 22 38 41 36 36
E 29 33 40 35 39
(i) «ll2edl ARl s G3al vied HSTH <5l Hudl.
sid
Hgll | A B C D E
1 16 22 21 23 15
2 13 15 17 14 16
3 14 23 16 25 17
4 17 25 15 22 18
5 18 20 19 23 19
ENGLISH VERSION
Instructions:

(1) Answer the following questions.
(2) Graph paper will be supplied on request.
(3) Figures given to the right indicate the marks of the question.
(4) Non programmable scientific calculator 1s allowed.

Q-1 Answer the following questions.

(6)

®

(1) For an item the production is instantaneous. The carrying cost of one
item 1s Rs. 20 per year, set up cost 1s Rs. 45 per order. If the demand
1s 500 per order. Find the optimum quantity to be produced per set up,
hence determine the numbers of orders to be placed 1n year and total
cost per month.

(1) Find basic feasible solution using raw minima method for the following
transportation problem.

D, D, D, D, Supply
0, 20 22 26 23 250
0, 25 27 23 19 300
O4 30 33 22 19 400
Demand | 200 225 275 250 950
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(111) Write dual linear programming problem of the following [..P.P.
MaxZ = 3x; — X, + 2x4 — X,
S.to. c.
2X] Xy T 3% X, = 3
Xy —Xy— X3 T X, =4
X, 20,%,2 0,%320,x,20
(iv) Solve the following assignment problem.

A B C D

I 23 24 25 26
11 25 26 27 28
111 28 29 30 29
IV 24 26 29 25

Q-2 (a) Solve any one of the following LPP using two phase method. )]
(1) MinZ =y, +y,
S.to. c.
2y1 ty,> 4
vyt 7y2 =7
vy 2 0, Va2 0
(i) MinZ = -3x, +x,
S.to.c.
2%, tx,>2
X, 3%, <3
X, <4
X, 20,%x,20
(b) Solve any one of the following [LPP using duality method. (12)
(1) MaxZ = 3x; +2x,
S.to. c.
X, +X,<6
2x, tx,<6
X, 20,%,20
(i) MaxZ =7x, + 5x,
S.to.c.
3x; +x,<48
2x; %, <40
X, 20,%,20
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Q3 (@

(i)
(b)
M

(i)

Q-4 (a)
)

(i)

RAN-1233 ]

Attempt any one. )
Describe the Hungarian method of solving assignment problem.
Explain optimality test for transportation problem.
Attempt any one. ©)
Following table shows the transportation cost of one unit from supply
centre A,B,C and D to the demand centre E.F,G,H & 1. Is the allocation
optimum for the following problem and if no then find optimum solution.
AtoE9,AtoF10,BtoF 150,Cto F 10, C to G 50, C to I 120,
DtoH210,Dto 170
A B C D E
P 18 20 22 27 25
G 25 23 28 21 19
H 24 30 26 20 23
1 23 29 17 15 22
Solve the following transportation problem using matrix minima
method.
D, D, Dy D, Supply
0, 13 14 12 19 3
0, 18 16 14 13 6
0, 17 15 14 18 7
0, 12 14 13 15 6
Demand 2 7 3 2
Attempt any one ©)
Explain
(1) Holding cost.
(2) Shortage cost.
Explain Vogel approximation method for obtain the basic feasible
solution of the transportation problem.
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(b) Solve any one. (6)
(1) 5 persons and 5 jobs are such that only one job 1s allotted to to the person
such that total cost becomes minimum
Job
Person 1 2 3 4 5

A 32 38 40 28 40

B 40 24 28 21 30

C 41 27 33 30 37

D 22 38 41 36 36

E 29 33 40 35 39
(11) Solve the following assignment problem so that the profit becomes

maximum.
Job
Person A B C D E

1 16 22 21 23 15

2 13 15 17 14 16

3 14 23 16 25 17

4 17 25 15 22 18

5 18 20 19 23 19
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